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OEAN&e E2d 24401 & KAEL
ull 200,000 = 12&€ 2,400
O A2 HA2 AH L AZTENH RA E
2= H| 900,000 = 12& 10,800
MdS A CAERE X D|EtE = 14,500 15,350 A 850
201 2Et24A Y| 3,000 7,850 AN 4,850
01 AP 22| d| 1,000 5,850 A4 850
OlgerE=4] 1,000
OLINEXRZA 2H ATEIYNH F¢
1,000,000& = 14! 1,000
02 24| 2,000 2,000 0
O[ANAEZH RXH] 2,000
OCIXNEXE A PCx2ldl 100,000& * 10CH 1,000
O AE2ZA J|D|4=2ld| 1,000,000& = 13 1,000
405 XHAHF S HI 11,500 7,500 4,000
01 XAt 2 E F S| 11,500 7,500 4,000
OUXENZAY “=HEHUA
1,500,000 = 2CH 3,000
OCXEX=4A oW &8 2LH 2
150,000 * 10CH 1,500
OHMC 2 QU2 5§ AAY ¢l
7,000,000& = 1CH 7,000
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AN BEE2USH
Hu: ZTCHB HE Y 29
Sl SHRSEEAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SN2 ZRUSHEUERS 7,140 4,340 2,800
201 £B-2d| 2,640 4,340 A 1,700
01 At 22l 2,000 0 2,000
Olger=2tl] 1,000
OZAUEEE It ¢
1,000& * 1,0000H 1,000
Ol=&tl] 1,000
ONYY SHRESS A2EF 22|
1,000,000 * 14 1,000
02 =24l 640 640 0
Ol2222LHAI 640
O=SHNEE 822 fHESE
320& » 2,000% 640
301 et d =S 4,500 0 4,500
MIEEd=S 4,500 0 4,500
OE M2 =2 AL 2SHI  2,000,000& = 14! 2,000
O=N2 & #A2EH 1,500,000 * 14 1,500
OZIL2tol st 1,000,000 = 14l 1,000
JATNZ SHANEEZEZOY 2H 12,400 20,700 A 8,300
202 044l 2,400 1,200 1,200
01 = LH o4 1l 2,400 1,200 1,200
O=AMEZZIOHE Y|
20,000& = 221 = 58 * 123 2,400
301 et a = 10,000 0 10,000
MIIEEd= 10,000 0 10,000
OSAHIEZZ Y 23|
1,000,000& = 10K 10,000
NSNS SHNHEZZOY 29 22,400 20,700 1,700
202 O4dl 2,400 1,200 1,200
01 = LH 4 Hi 2,400 1,200 1,200
OSAHMEEZZIY 2 Ol
20,0003 = 5 = 201 » 123 2,400
301 et d=s 20,000 0 20,000
1M1IIEBELSS 20,000 0 20,000
OSHEEZ208 29|
1,000,000& * 107K 10,000
Oddus Tz 23|
2,500,000& = 204 5,000
OFEs Z208 2%4| 1,000,000 * 54 5,000
HHR2IZH(EERS) 86,617 121,397 A 34,780
JlEZ3l 86,617 121,397 A 34,780
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AN BEE2USH
M HY2IAZH(EEwSD)
& 123l CEE-ED
% 5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
ORNM2Y SHAY 20,000& = 62! = 45¢ 5,400
AN 2E JI=23H 16,250 33,600 A 17,350
201 L2l 13,450 30,800 A 17,350
01 At 22l 13,450 30,800 A 17,350
Olger=&Hl] 7,500
ORA2E SHA L 7,500,000& * 14 7,500
Ol=&Hl] 2,450
ORNSY ZANL 7,000 72 * 50 2,450
Olgsx+g] 3,500
(OR= AR 50,000& = 70 3,500
202 Oddl 2,800 2,800 0
01 =2 LHAYI 2,800 2,800 0
ORN2IESAUAH & 20,000& = 721 » 20 2,800
SSENM2E JI2Z| 13,670 31,100 A 17,430
201 L2l 11,670 29,100 A 17,430
01 At 22l 11,670 29,100 A 17,430
Oflget=&Hl] 6,420
ORAN2E SHAL 6,420,000 * 14 6,420
SIERTTY 1,750
ORAN2E SHA L 1,750,000 * 14 1,750
Olg=aa¢] 3,500
CgX=¢ 50,000& = 70 3,500
202 04l 2,000 2,000 0
01 = LH YI 2,000 2,000 0
O[=2uUobl] 2,000
ORAN2EESHH & 20,000& = 100 2,000
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